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revenue from the duty. To make the matter plain, let us put a hypotli''tifal

case. A country imports foreign manufactured goods to the extent, sav, of
one million sterling annually, all of which are admitted duty free. As
these goods cannot, at present, be produi-ed at home for less than ten per
cent, above what they can be im|)orted for, it is proposed to levy on them
a ten per cent, ad valorem duty, primarily for reveinie, and se(;ondarily for

the encouragement of local competition. The duty we fix at ten per cent.,

as that is the estimated aggregated amount of the taxes borne by the local

producers. Ten per cent, on one million sterling is exactly £100,000, and

that, political economists tell us, is the precise amount that would be filched

out of the pockets of consumers for the benefit of j)roducers, if the local

took the place of the imported product with the duty added. Let us see,

then, how the figures \vork out. .,\Ve must first ascertain how this million

sterling is disposed of—how mucii expended in raw material, and how much
in wages, interest, and profit. Witli regard to the first, the pro[)ortion

expendeil in raw material, the question will be uiuch simplified if we assume

that thii can be had in unlimited quantities at home, and that there is no
demand for it abroad in its unmanufactured state, such, for instance, as

barley and hops (f )r beer-making), sugar-beet, porcelain clay, iron ore, or,

in fact, any agricultural or mineral product. Jf we assume, also, that there

is an abundance of land from which to obtain these ])roducts, which would
otherwise be unproductive if not used in the manner indicated (as in Aus-
tralia, for instance), then the raising of the raw material niay fairly bo

rec^koned as part of the process of manufacture. Su[)pose, therefore, that of

this million sterling fifteen percent., or Xl.")0,0OO, represented interest and
profit on capital, and the other eighty-five per cent., or £850,000, repre-

sented wages; and suppose that we tnke Mr. Dudley Baxter's estimate of

the income of a working man in Great Britain* as our standard, namely,

£70, the family consisting of four persons; and the same writer's c timate

of the amount of taxes paid out of that income, at ten per cent.; then we
have the materials on whi(!!i we may base a calculation. Tire above sum
of £850,000 would, therefore, if expendeil in wages, give employment to

12,1421^ workmen, each of whom would contribute in the shape of taxes

to the State £7, making altogether £85,000 out of the <:100,000. Thus
eighty-five per cent, of the duty, \yhich was alleged to be filched out of the

pockets of consumers, has already been returned to the coftbrs of the State;

and as the remaining fifteen per cent, allowed ibr interest and profit on

capital has not been wasted or hoarded, but expended again, chiefly in labor

in one shape or another, and as th;vt labor likewise pays taxes at (Jie same

rate as the other, we may consider, the whole £100,000 has been returned.

But that is not all. The money paid for wages lias not, as we have sjiid,

* In II paper rwid l)ef«)re the Statistical Society of Tvondoii, in Janiinry, 1« (•, on t1it> Taxation

of the I'nit'd Kiii-T'loni, Mr. Ii:i.vtor p^tiJU*tt'(| hat a man witli an incmio of £IO.ui)(> a year,

and a lioiiscIioM of fourU'oa jwrsons, pa; »J per i-ont. in taxes; a iiiiin v. iili iiii itn'ome of XAIK*

a vt'iir, and a thmily of spvon |>orMonn,'fllik*<< tOV por cent. ; and a wotkiii^ man witli an ini-i>ine

n{ £7(1 a year, and a faniily of fmir pornoiiM, pajil 7 per (Kcnt. Thi» lattci- iiinouiit, liowcvor, hi;

estiniatesj is only wtiat » iferliinif man of tenipomti' lial)it*< yayn, mid over and aiiov tliis there

is a reaidiiA-rftjixatioifrtf £10,0M>.<)(X)a y«iir. d.TivfHl from nlci^oiic drinks, whieh are eoni<nnied

ehiorty liy th^ working clittnt'it, whi"h, in liis estimation, brings the woHcing man's Ui\es fully

np tu lo']f)«r aiut. y
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